LR AR ¥ LR

(1] BEE3ERE L=
Bl a;=0, a,=1, a,,,—3a,,1—10a,=0 ILL>TEDSNZEF (a,| D—kIEE
kb &
<fif> (an+z—/9 ay1=a(a,,1—Ba,) DK% 2 EU{%O)
IheZFddL
ayo—(a+PB)a,  +aBa,=0

&Y 2RABRD TR LR 2ERTXET,
I8 1 bR % 2RAER 22—3x—10=0 LRNE ZD 2N a, B TT,




[2] s
KOG &> TEDSNZEF (a,), {b,]} 1H 5,
a=2, bb=1, a,,,=3a,+b,, b,.,=a,+3b,
(1) #3{a,+b,} D—EERD &,
2) #F{a,—b,} O—HELERD L,
(3) #Fl{a,}, (b, D—MEE, ThThRkd L,

<HRE fElRE >

RDOZMIZ &> TEDSNDEF (a,} D—HEERD &,
1 a=1, a,=4, a,,s+a,,1—6a,=0
2 a1=0, ay=2, a,.3—4a,,,+4a,=0

7.2n"1_9(—3)1
5

#E (1) a,= 2 a,=(n-—1)-2""1

ROZMEZ &> TEDSNDEF (a,), {b,} 7H5.
a,=0, b,=1, a,;1=a,+3b,, b,.,=a,—b,
(1) #3l{a,+b,), (a,—3b,} O—fEE, ThThkdk,
2 #5l{a,}, {b,) O—fEE, ThZhkD L,
#= (1) a,+b,=2"""', a,—3b,=—-3(—2)""!

on—=1__ 9/ o\n-1
) an:3 2 43( 2) b,




